VISIT SIKSHAPATH.IN FOR MORE
NAME:

AIM: 
a)TO FIND THE SMALLEST OF TWO 8 BIT NUMBERS
b)TO Find the largest of two 8 bit no.

REQUIREMENTS: JUBIN SIMULATOR

CODE:

a)TO FIND THE SMALLEST OF TWO 8 BIT NUMBERS

LXI H,1000H
MOV A,M
INX H
MOV B,M
CMP B
JC 200BH	// JUMP TO ADDRESS 200BH IF THERE IS NO CARRY
MOV A,B	// MOVE THE SMALLLEST FROM REG. B TO REG. A
INX H		// INCREMENT H-L PAIR
MOV M,A	// MOVE RESULT REG A TO MEMORY
HLT

#ORG 1000H
#DB 30H,10H

b)TO Find the largest of two 8 bit no.

LXI H,1000H
MOV A,M
INX H
MOV B,M
CMP B
JNC 200BH		// JUMP TO ADDRESS 200BH IF THERE IS NO CARRY
MOV A,B		// MOVE THE LARGEST FROM REG. B TO REG. A
INX H			// INCREMENT H-L PAIR
MOV M,A		// MOVE RESULT REG A TO MEMORY
HLT

#ORG 1000H
#DB 30H,10H


OUTPUT:
a)TO FIND THE SMALLEST OF TWO 8 BIT NUMBERS
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b)TO Find the largest of two 8 bit no.
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5 Assembler 5 Registers -
[ -] Adaress| Label | Mnemonics | Hexcode| Bytes | W-Cycles| T-States. Register vae [7[6][5[4[3]2[1]0
v 0000 X H,1000 21 3 3 10 |Accumulator 10 o/oj/oj1/0]0o|0|0
oo o e % fooioiooolas
v 0003 MOVAM 7E 1 2 7 Register D 00 o/ojojojoofo|o
'V 0004 INXH 23 1 1 6 Register E 00 o/ojojojoofo|o
v 0005 MOV B,M 46 1 2 7 Register H 10 o/ojoj/1{0f0of0|0
V 0006 CMPB B8 1 1 4 Register L 02 o/ojojojofo[1]0
V 0007 C 2008 DA 3 3 10 Memory(M) 10 ofofof1/0f0f0of0
oo 5
0009 20 Resister Value S| z| *|Ac| *|P| *|CY|
o mre L giaiaig Fosmeser | 00 |0 alool00 6 0|
'V 0008 INXH 23 1 1 6
; /000C MOVMA 77 1 2 7 Tye Value
j000D HLT 7 1 2 s Stack Pointer(SP) 0000

Memory Pointer (HL) 1002

Program Status Word(PSW) 1000

Program Counter(PC) 000D

=== &
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T so0 | s | i | e | s | Fes | s
satfron oo |

For SIMinstruction | SOD| SDE| * | R7.5| MSE| M7.5| M6.5| M55

Stop
ForRIMinstruction | siD | 175 | 16.5| 155| IE | M7.5| M65| M55
G
e s Snar
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5] Assembler

5 Memory Editor

iMemory Range: 0000

FFFF.

T Aadress | _Label | Mnemonics | Hescode] Byles |W-yces| T-States
v 0000 LXI H,1000 21 3 3 10 Memory Address Value
o001 o o000 5 ;
o002 10 o002 10
v 0003 MOV AM 7E 1 2 7 0003 7E
V 0004 INXH 23 1 1 6 0004 23
v 0005 MOV BM 46 1 2 7 0005 46
V 0006 MPB B8 1 1 4 0006 B8
V 0007 € 2008 DA 3 3 10 0007 DA
o008 o o008 o
0009 2 o009 2
'V jo00A MOVAB 78 1 1 4 000A 78
v (0008 INXH 23 1 1 6 0008 23
v jo0oC MOV MA 77 1 2 7 000C 77
'V joooD HLT 76 1 2 5 000D 76
1000 30
1001 10
1002 10
T simutate

sartfrom 1000
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5 Assembler 5 Registers -
+| Adaress| Lavel | Mnemonics | Hexcode| Bytes |W-Cycles| T-states| | Register vawe [7]6]5]4[3[2]1]0
¥ 0000 XX H,1000 21 3 3 0 . Accumulator 30 olo[1[1]o(0]0|0
o001 00 Register B 10 olofo[1]o0lo[0l0
0002 10 RegisterC 00 olofolo(olo[0l0
v (0003 HOVAM E 1 2 7 Register D 00 olofolololo[0l0
v loo0a mxH B 1 1 s Register £ 00 olofo[o(olo[0l0
v (0005 HOVBH a6 1 2 7 Register H 10 olofo[1]o0(o[0l0
v (0006 [ B 1 1 . Register L o1 olofofololo[ol1
v (0007 Inc 2008 02 3 3 10 Memory(1) 10 olo/ol1]olol0]0
0008 o8
L) ] Resister vawe | 5] z] ~[ac] <[P *[cy]
Y looon B as r : 2 i O oo 00 000 O
v (o008 mxH B 1 1 5
v (000 HOVHA 71 2 7 = e
/0000 LT ZCM I 2 5 Stack Pointer(sP) 0000
Hemory Pointer (HL) 1001
Program Status Word(PSW) 3000
Program Counter(PC) FFFF
|| [ciock cvdle counter 220372
=) | [mstruction counter 57338
) simuate sop | s | TR | TRaP | R7s | Res | Res
satbron ~ [oooq |
For SIMinstruction | SOD| SDE| * | R7.5| MSE| M7.5| M6.5| M55
oo ofolololo]lo
Run all Ata Time Step By Step
ForRIMinstruction | siD | 175 | 16.5| 155| IE | M7.5| M65| M55
oo ofololo oo
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5] Assembler [ Memory Editor
emory Range: 0000 FFFF

[ aduress| Label | Wnemonics | Hexcode] Bytes | 1h-Cyctes| T-states| |

v 0000 LXI H,1000 21 3 3 0. Memory Address Value
o001 ) o000 5 5
o002 10 o002 10

v 0003 MOV AM 7E 1 2 7 0003 7E

V 0004 INXH 23 1 1 6 0004 23

v 0005 MOV B,M 46 1 2 7 0005 46

v 0006 MPB B8 1 1 4 0006 B8

v 0007 INC 2008 D2 3 3 10 0007 D2
o008 o8 o008 o
00 2 o009 2

'V jo00A MOVAB 78 1 1 4 000A 78

v (0008 INXH 23 1 1 6 0008 23

v jo0oC MOV MA 77 1 2 7 000C 77

'V joooD HLT 76 1 2 5 000D 76

1000 30
1001 10

5 smuate

sartirom ~oog] |

(©) Show entire memory content
Run all Ata Time Step By Step. ® Show only loaded memory location





